

لَنَا الْبِرَّهِمُ الْإِذْهُمُ C

$$g = \frac{x + \mu}{2x^{\mu} + 3x^{\mu-1} - 1x + \mu}$$

$$\frac{\begin{array}{r} \cancel{1}x^r + \cancel{1}x^r - 1x + 1 \\ - \cancel{1}x^r + \cancel{1}x^r \\ \hline \end{array}}{\begin{array}{r} \delta x^r - 1x + 1 \\ - \delta x^r + \delta x \\ \hline \end{array}} \bigg| \frac{x-1}{1x^r + \delta x - 1}$$

$$y = \frac{n + p}{\underbrace{(x-1)}_{n=1} \underbrace{(x^p + px - p)}_{n=-p, x=\frac{1}{p}}}$$

$$r x^r + \delta n - r = 0 \rightarrow x^r + \delta n - r = 0 \quad \frac{-(n-1)(n+1)}{=}$$

$$\rightarrow \frac{1}{r}$$

$$\rightarrow -r$$

$$D_f = R - \left\{ -\frac{1}{f}, 1 \right\}$$

$$b) y = \frac{n+r}{r n^r + 9 n^r + 1 \cdot n + r}$$

$$\begin{array}{r} x^2 + 9x^2 + 10x + 1 \\ - x^2 - 2x^2 \\ \hline + 7x^2 + 10x + 1 \\ - 7x^2 - 7x \\ \hline + 3x + 1 \\ - 3x - 3 \\ \hline -2 \end{array} \quad \left| \frac{n+1}{x^2 + 6x + 1} \right.$$

$$y = \frac{x+r}{(n+1)(r x^r + v n + r)}$$

$$\hookrightarrow P_n^T + Vx + W = 0 \rightarrow x^T + Vx + Y = 0$$

$$(n+1)(n+4) = 0 \quad \begin{cases} n = -\frac{1}{1} \\ n = -\frac{4}{1} = -4 \end{cases}$$

$$D_f = \mathbb{R} - \left\{ -1, -\frac{1}{f}, -r \right\}$$

$$الف) y = \frac{x+3}{x^2 - 2x^2 + 2x - 1}$$

$$\begin{array}{r} x^r - rx^{r-1} + rx^{r-1} \\ - x^r + x^r \end{array} \quad \Bigg| \quad \begin{array}{r} x-1 \\ x^r - x+1 \end{array}$$

$$\begin{array}{r} -x^r + rx^{r-1} \\ + x^r - x \end{array}$$

$$\begin{array}{r} x-1 \\ -x+1 \end{array}$$

$$y = \frac{n + r}{(n-1)(n^r - n + 1)}$$

$$D = b^T - \sum a c = 1 - 2 = -1 \rightarrow D \neq 0 \rightarrow \text{مفرد}$$

$$b) \sqrt{\frac{x+r}{x^r - rx^{r-1} + rx - 1}}$$

$$\frac{x + p}{x^p - px^{p-1} + px - 1} \quad \text{D.}$$

$$x + p = 0 \rightarrow x = -p$$

$$\begin{array}{r} x^r - rx^{r-1} + rx^{r-1} \mid x-1 \\ -x^r + x^r \\ \hline -x^r + rx^{r-1} \\ +x^r - x \\ \hline x-1 \\ -x+1 \\ \hline 0 \end{array}$$

$$\frac{x^{10}}{(n-1)(n^2-n+1)}$$

$$\frac{-2 \quad 1}{+ \quad - \quad +}$$

$$D_f = (-\infty, -1] \cup (1, +\infty)$$

$$b^T \Sigma a c = 1 - 2 = -1 \Delta c$$

$$\Rightarrow y = \sqrt{\log \frac{n-1}{n+1}} \quad \frac{n-1}{n+1} > 0 \rightarrow \frac{n-1}{n+1} > -1 \quad \frac{-1}{+1-1+1} \quad \checkmark$$

$$(-\infty, -1) \cup [1, +\infty)$$

$$\log \frac{n-1}{n+1} > 0 \rightarrow \frac{n-1}{n+1} > 1 \rightarrow \frac{n-1}{n+1} - 1 > 0 \rightarrow \frac{n-1-n-1}{n+1} > 0$$

$$\Rightarrow \frac{-2}{n+1} > 0 \quad \frac{-1}{+1-1+1} \rightarrow (-\infty, -1) \quad D_f = (-\infty, -1)$$

$$f(n) = \sqrt{(a+r)n^r + an + b} \quad a+r=0 \rightarrow a=-r \quad \checkmark$$

$$D_f = (-\infty, r] \quad an+b \xrightarrow{a=-r} -rx+b \quad \frac{r \times 0 + b}{\text{for } x=0} \quad -r \times r + b = 0$$

$$\underline{b = r^2}$$

$$f(n) = \sqrt{n^r + rn + r - rn^r} \quad D = b^r - \Delta ac \rightarrow \Delta - 1 + \Delta m^r = 0$$

$$\rightarrow \Delta m^r - \Delta = 0 \rightarrow \Delta (m^r - 1) = 0$$

$$D_f = \mathbb{R} \text{ independent of } n \quad \min \in \mathbb{R} \quad a > 0$$

$$\rightarrow (m-1)(m+1) = 0 \rightarrow m = \pm 1$$

$$m_{\max} - m_{\min} = 1 - (-1) = 2$$

$$f(n) = \frac{\sqrt{\Delta - n^r}}{[n] + [-n] + 1} \quad \Delta - n^r > 0 \rightarrow (r-n)/(r+n) > 0$$

$$\frac{-r \cdot r}{-1+1-1} \rightarrow [-r, r]$$

$$[n] + [-n] + 1 \neq 0 \rightarrow [n] + [-n] \neq -1 \rightarrow D_f = \mathbb{Z}$$

$$D_f = \{-r, -1, 0, 1, r\}$$